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Runge-Kutta solutions to the stochastic differential equation (1)
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X#h: [11D.J.vright,The digital simulation of stochastic differential equati
ons, |EEE T[gns. Automatic Contorol AC-19 75-76 (1974).[2]JP.E.Kloedenand R.A.

Pearson,The nuwmerical

solution of stochastic differential equation,).Austral

.Math.Soc.20(Series B)8-12 (1977).

----- Storatonovich solution ---

=== the limit

-0.0650 <=
-0.0600 <=
-0.0550 <=
~0.0500 ¢=
-0.0450 ¢=
20.0400 <=
~-0.0350 <=
-0.0300 <=
-0.0250 (=
-0.0200 <=
-0.0150 <=
-0.0100 ¢=
-0.0050 <=
0.0000 ¢=
0.0050 ¢=
0.0100 ¢=
0.0150 (=
0.0200 ¢=
0.0280 <=
0.0300 (=
0.0350 ¢=
0.0400 ¢=
0.0450 ¢=
00,0500 (=
0.0550 <=
0.0600 ¢=

mean value

=== the 1imit

-0.0325 <=
-0.0300 <=
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0.0125 <=

0.0150 <=
0.0175 <=
0.0200 <=
0.0225 <=
0.0250 <=
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0.0400 (
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0) 0.000 %
17) 1.700 % AR AR R E 2T TS
19) 1.900 % LR YT 2]
30) 3.000 % LA AR Y Y Y S SRR L]
23) 2.300 % N NN
24) 2.400 % A XX SRR ] .
33) 3.300 % AR A R s e ]
31) 3.100 .% AR Y YR R L]
42) 4,200 % LA Y Y Y s
§2) 4.200 % LA R s S R I
38) 3.800 % A Y YT
4n) 4,400 % LA R Yy YT aem
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33) 3.300 % AAA R A T ey
32) 3.200 % AR Y R ]
24) 2.400 % B U W
13) 1.300 % LZZ XXX ST 32
12) 1.200 % LA AR 22222
16) 1.600 % 0
12) 1.200 % W NN NN
9) 0.900 % (222 23T
17) 1.700 % U W
8) 0.800 % W N
8) 0.800 % NN
8) 0.800 % T2 2]
5) 0.500 % * M *
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count == ratjo =ss========= normal distribution sss==cz==sss=sscs===
0} 0.000 %
1) 0,100 %
1) 0.100 %
0) 0,000 %
5) 0.500 %
5) 0.500 %
5) 0.500 %
12) 1.200 % *
12) 1.200 % *
18) 1.800 % *
30) 3.000 % Y]
h2) 4.200 % .
120) 12,000 % TIram
499) 49.900 % AR AR A d A s s N s R rrTrImm
89) 8.900 % NN
34) 3.400 % T
28) 2.800 % ™
15) 1.500 % »
13) 1.300 % *
6) 0.600 %
8) 0.800 %
5) 0,500 %
7) 0.700 %
4) 0.4500 %
5) 0.500 %
2) 0.200 %
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